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carries 1 score, (5x1=5)

1. Who is the author of the book “The
Sources of Knowledge”™ ?

a) Ranade

b) Jyothiba Phule
c) Veeresa Lingam
d) M.S.A. Rao

Score
1 ayndd 6 cuenwiag ea IR apemsleyo
3 agepewlay semeaamye. 1 snped alimoe.
(5%1=5)
1. “endlalen 90alsemsd’™ agim aymyes

elen ooielmoat ?

a) oameNw

b) empaions aqieel

¢} aflewws elloto

d) ago. ag)v. ag). coay

SSE 38 Sociology 1/7



Score

. The production of goods with the help

of machinery run by steam or electricity

is called

—_——

. An aggressive ideology linked to

religion is called .

laws imposed an

e ———

upper limit on the amount of land that

can be owned by a particular family.

is the Amendment of

- —_—

the Constitution that brought Panchayath
Raj.

a) 70"

b) 71¢

c) 72

dy 73¢

. The concept of scientific management

was developed by :
a) Karl Marx

b) Frederic Vinselo Tailor

¢) Harry Braverman

d) Clerk Kerr

. BREMARISMWIENS

[

Score
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a) 70®
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Answer any 4 questions from 7 to 11. Each

carries 2 scores. (4%2=8)

7. Define outsourcing,.

8. Globalisation circulates not only money
and goods but also people and culture.
Find out two examples.

9. Define colonialism.

10. According to the languages, tribes of

India are classified into four categories.
These are

1) Indo Aryan
2)
3)
4) Austric

11. Define deindustrialisation in India

during British period.

Answer any 4 questions from 12 to 16. Each
carries 3 scores. (4x3=12)

12. Identify and analyse the practice of
Panchayath Raj System among tribes
in India. :

13. Critically evaluate the consequences of

Green Revolution in Rural India.

14. What are the features of capitalism ?

15. How were the indigenous trade markets

organised in Indian Society ?

Score

7 b 11 cuonwygg caloaismnglod ageamalelo
4 agepedio someaaw@ye. 2 cmpd allme.
(4x2=8)
7. aloo e6moFIad @0 aildoalleeids.

8. @EREMIRNIBHHDEME alEMOLo TVIWMETBEIO
Do|@ag OeHadRe ealgmMa’ adlal
DM ERWI0 TVOTPIREETDD0 BYSIWIET,
NS HEOAOMEMETBWD EOEBETI.

9. awoeaoeiwellove ddalallenis.

10. @oas@yes @psiqunomamlcd eamjileal

andlaoms afeomnsmes 4 @l @oodid gl
aleemy.

@RCLIQOST

1) spdeaws apayid

2}
3) .
4) oogles

11. ey @o10pIgEEHAl @aIO] IOV

QU eeEemo D2 leas:.

12 qyoad 16 cuenw)as ¢.aoa)smRglad age@slalo
4 agepEmia pameanyjos. 3 aapod allee.
(4x3=12)

12. cmo® cudg lleauosmgla aflalnfiadenim
wemdeEnm esg moallwomesm alal
e afldeimo MSEM:.

13. eamyd (odlem sasuaielidd andlm allgyos

FleMn (nl®oeedmemd alladunmocn

0o allaifleEm)d.

14. oyweoglomewlod qalleoa ek
agiepamgjoo 7

oAy Mmoo @E3WL laloo
(ayosuBl@ muonalslaflafloymemensam ?

15.
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16. C. W. Mills explains connection between
‘personal troubles’ and ‘social 1ssues’.
How the following ‘personal troubles’

changes to social issues ?
a) Gencration gap

(1'2)

b} Unemployment (1'2)

Answer any 4 questions from 17 to 21. Each

carries 4 scores. (4x4=16)
17. Tlow the political parties and pressure
groups influence Indian Democracy ?

18. Mention the difference between
organised sectors and unorganised
scctors in the table given below :

I TETT

Score

16. C. W. dl@do cujerilalnomow (@emeam)e
LOERO YN IGETBEEWIO EUMUERSIETIH
ezl ag)ETREM@IET @IYAIOWIAD
QB IEDI {aJ@ETBUd (VOE) (nl(Des3

oy ?
a) ®anOed calleyss allsal (1)
b} emodlelgoy (1%)

17 oyt 21 cuenayag e.aloaystrgict agemalelo
4 agieREWITl 9EMS agf)Pi@ie. 4 eapd allme.
(4x4=16)
17. momdgenapeale. aolndl® aiddglencoo
ag)sTBOM®@IET MM @moulialm oo
cvpudlailesiomna ?

18. qvoneigle -antuocalsSle caaaled oz
2REE (U Y®JOTVETBUD alGldha|SiEm)dE:.

Organised Sector

(cruoncislan emeuer)

Unorganised Sector

(mravongisSlm easual)

a [Ten or more people will be working
throughout the year

Al @REI I EBHemd ERaIEUD (Udado

DR atermdl aS)Ee3y.

Less than 10 people will be working
throughout the year

O @oey BRaE:Ud (Udake oyt alenm]
OSSN
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19. The table given below shows the
dominent castes in various states of
India. Complete the blanks from the

20.

21. Analyse the assimilationist and
integrationist policies of the State.

list.

(Vokkaligas, Yadavas, Jats, Patidars)

Score

State

Dominent Caste

Bihar

Punjab

Gujarat

Kamataka

Compare and contrast the industrialisation
and urbanisation processes in India with

that of England.

19.

Score

®OY O ISATIEI LM algle my
ofleel afladiw meaunomsteslosl (nenieizgo
o8 Mallafleeimmy. allgean® &sme
MIGleni M (atenielRomle:a10s Gald
9alewouil o alidloflgus:.
(ecuseselonmod, @orrd, 205180, alg)
0odmod)

MUoadIMo {nJenuel ggoail
enflanod

aderminen]

UEROIEYS)

ue;(%emo&ea

20.

21.

am joileeimo snoenEleai@io MUM-CU
MI@ ABEHEEM (al(@1Rma8 mooma0
61010 @M BHEIETEDIT) .

Ao ayo@® MosnlaWlal TVPRCW 06
9EIWLM MWW Altodeimo 6.a1gyd:.

22. Match the following : (1x5=5) 22. cainjeald] caibone. (1x5=5)
A B C
1) | Secularisation M. N. Sreenivasan Migrant People

DEDDOCUBHHDEMO ago. agy. galadlousomum | eyslewn Rmm

11) | Westernisation M.S.A. Rao Development of Technology
AURE OB HOREMo | aglo. )M, ag). QLY mocEdile aflajuens aliemte

111) | Sanskritisation India English language
TLOTYOOUBEREME | EDTM gnogdlnd @onk

1v) | Industrialisation Anonimity Imitation of upper caste
(Um0 mesmemo | @aldl afiejo HRBM RO HHOD @OMYBBHOED

v) | Urbanisation British culture Equal importance to all religions
MO HEDEME (eriigiad rucmissnono QB0 DDETBRBE0 WYLLL (IIHVIMo
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Answer any 3 questions from 23 to 26. Each
carries 6 scores. (3x6=18)

23. a) Define democracy. (2)

b) Analyse the factors which hinder

democratisation in India. 4

24. Strikes and unions are a boon and a curse

to the working class and industries.
a) Do you agree with the statement. (1)

b) Substantiate your answer. 5

25. Analyse the relevance of population

policy in India.

26. During the 19" and 20" Century several

socio reform movements emerged in
India.

a) Mention the names of any 4
movements, (2)

b) Bricfly describe the impact of any 2
movements. (4)

Answer any 2 questidns from 27 to 29. Each

carries 8 scores. (2%8=16)

27. a) Define civil society. (2)

b) State importance of civil society when
the state turns into authoritarian,

corrupt and undemocratic. (6)

(TR O L
Score

23 oyoad 26 cueomyey aaromyemglad minmyo

ageaalago 3 ageparin pomeenimye. 6 eapod
aflmo. (3%x6=18)

23. a) rOoWlameom Q- lens. 2)

b) pwyd mmowlaimyerlay ®Sqpo
lddenim caiseemn@d aflteseimo

6).21Q}ids. 4)

24. mooemglo @eMomsalo e mo¥leiog]
Ud@amiimio QIUIMIWEBREni0 By
BalOBA! @RMYWANQ VDOAIOLEO6T).

a) 0D (IPOaIMEWos (flemdd cwosdlon,
myeenzo ? (1)
b) samenam quowedione. 5)

23, s ine: ROMoELPMWOTOT (@ iover
QllooEmoBe) .

26. aloamodal®o DO} TROETEEE]M
o lad Mol Mmoo aidagnem
(Jundmemtd e@dmmy cunrilgens’

a) a@eo®lagoe moal (moomeaBges
G F) b, (2)
b) agemeleye nend (AICUDOMETBEYEHS
mpulme allaidleas. (4)

27 oyom 29 cueow)gg s.aloe)emglad miom
MReOBIelio AOMERAMIM QOMAOQP M.
8 ampod afiane. (2x8=16)

27. a) alo noyaoeem aldqafleas. (2)

b) aw) eolago emgoullaimy, eelaa,
gmowlaimjaioavew] mo0;emioR
adB@MAOOEIOM plowomie afltea
DOBEY b, (6)
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28.

29.

1

a)

1)

Score

Soon after independence in different
sectors several revolutions hike blue
revolution, green revolution, white
‘evolution etc. happened in India.

Among these briefly explain features
of green revolution. (4)

Critically evaluate the social
consequences of green revolution. (4)

We can say “Disability is as much a
social as a physical thing”. Describe.
&)
Suggest how to bring differently
abled people to the main stream of
society. 3)

Score

28. mpomomome ool alymim

29.

sasualamalanal mla allginle, andlm

CligJate. waigallgjale eaoepag olloaiu]

llgyolsmead msarilgiens.

a)

b)

a)

b)

eaxde OTmI@I@d cfleme andla
aflgjammiio malevenumde:.od
sl Aflaudes)s.. ' (4)
a0dl® Allgjouasle ol ealnmemsid

odwrmoemancd aladigmme.  (4)

“Oe0UdEel o afyME) Boadide ag)mia
eRaldl musmadleasem’”. alloudle;s.
(5)
Elomeuadllaanens VOO oy o]
eelE aqymsfieemaimas aldeguosmad
TSP 3)

SSE 38 Sociology 7/7

urs
utes

|

g

re

=5)



